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1. It is the largest and deepest of Earth's oceanic divisions. It extends from the Arctic 
Ocean in the North to the Southern Ocean in the South and is bounded by the 
continents of Asia and Australia in the west and the America in the east. Name the 
Ocean: 

 

a) Atlantic Ocean                                           b) Indian Ocean                        
c) Pacific Ocean d) Arctic Ocean 

 

Correct Answer: c  1 Mark 

 

 

2. Amravati will be the first city in India to be home to nation’s first dedicated city on 
Justice. This city Amravati, is the new capital of which Indian state?                                        
 
 
 
 
 
 
 
 
 
a) Telangana b) Andhra Pradesh            
c) Arunachal Pradesh d) Tamil Nadu 
 
Correct Answer: b                                         1 Mark 

 

 

3. Whose autobiography is “My Experiments with Truth”, which covers the author’s life 
from his early childhood through to 1921? 

 

a) Mahatma Gandhi b) Jawaharlal Nehru 
c) Lal Bahadur Shastri d) Lokmanya Tilak 
 
Correct Answer: a      1 Mark 

 

 

 
4. I am a person who studies the origins, composition and distribution of soils and the 

materials from which soils are formed. Who am I? 
 
 

a) Archaeologist b) Meteorologist 
c) Geologist d) Pedologist 
 
Correct Answer: d        1 Mark 
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5. Find the incorrect pair: 

 

a) Kempegowda International Airport – Bengaluru                        
b) Rajeev Gandhi International Airport - Hyderabad                         
c) Coimbatore International Airport – Chennai                                   
d) Cochin International Airport - Kochi 
 
Correct Answer: c    1 Mark 

 

 

6. ICJ is the principal judicial organ of the United Nations, headquartered in The Hague, 
Netherlands. What does ICJ here stands for? 

 

 

 

 

 

 

 

a) International Court of Justice b) International Court of Judiciary           
c) International Court of Justification d) International Court to Justify 

 

Correct Answer: a     1 Mark 

 

 

 
 

7. The one of the world’s tallest artificial structure is 829.8 m tall _______________ in 
Dubai. 
 

a) Burj Khalifa                             b) CN tower                                  
c) Twin building d) Lattice tower  

 

Correct Answer: a   1 Mark 
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8. ______ Dam on Bhagirathi River is the highest dam in India and also the eighth highest 
dam in the world, located at Uttarakhand. 
 
 
 
 
 
 
 
 
 
 
 
a) Hirakund     b) Koteshwar 
c) Harangi d) Tehri 
 
Correct Answer: d    1 Mark 

 

 

9. Four statements are given below. One or more than one statement is correct. Read the 
statements carefully and choose the correct option: 
 
I.   Rabindranath Tagore is the first Indian Nobel Laureate. 

II.  First President of Independent India is Pt. Jawaharlal Nehru. 

III. First Indian Scientist to get Nobel Prize is C. V. Raman. 

IV. First woman President of India is Indira Gandhi. 
 
 
a) Only I b) I and III                                             
c) I, III, IV d) II and IV 
 
Correct Answer: b         2 Marks 

 

 

10. Match the following: 

Column (A)                                      Column (B)    

 Sports                                              No. of Players 

(P) Volleyball  (i)   5 
(Q) Basketball (ii)  9 
(R) Kho Kho (iii) 6 
(S) Football     (iv) 11 

 

a) P – (iii), Q – (i), R – (ii), S – (iv) b) P – (ii), Q – (iv), R – (i), S – (iii)             
c) P – (iii), Q – (ii), R – (i), S – (iv) d) P – (ii), Q – (i), R – (iv), S – (iii) 
 
Correct Answer: a          2 Marks 


